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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 mark.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&

1)	 (i)	 What is key?

		  "H$s' ³¶m h¡?
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	 (ii)	 Write full form of RDBMS.

		  RDBMS H$m nyam Zm‘ {b{IE&

	 (iii)	 What is Entity?

		  Entity ³¶m h¡?

	 (iv)	 What is Normalization?

		  Zm‘©bmBOoeZ ³¶m h¡? 

	 (v)	 What is SQL?

		  SQL ³¶m h¡?

	 (vi)	 What is 'Primary Key'?

		  'Primary Key' ³¶m h¡?

	 (vii)	What are 'Join'?

		  'Join' ³¶m h¡?

	 Section - B	 4 × 6 = 24
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 6 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 6 A§H$m| H$m h¡&

2)	 How file management system is different from DBMS? Explain.

	 ’$mBb ‘¡ZoO‘|Q> {gñQ>‘ S>mQ>m~og ‘¡ZoO‘|Q> {gñQ>‘ go {H$g àH$ma {^ÝZ 
h¡? g‘PmB¶o&
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3)	 What is the difference between network model and hierarchical 

model?

	 ZoQ>dH©$ ‘m°S>b d {hamaH$sH$mb ‘m°S>b ‘| ³¶m AÝVa h¡?

4)	 Explain the distinction among the term primary key, forigen 

key, candidate key, and super key.

	 àmB‘ar H$s, ’$m°aoZ H$s, H¡$ÊS>rS>oQ> H$s, Ed§ gwna H$s ‘| AÝVa H$mo g‘PmB¶o&

5)	 What are the advantage and limitation of triggers?

	 {Q´>Jg© Ho$ bm^ d gr‘mE± {b{IE&

6)	 What is Normalization? Discuss its need.

	 ""Zm‘©bmBOoeZ''³¶m h¡? BgH$s Amdí¶H$Vm na AnZo {dMma àH$Q> 
H$s{OE&

7)	 What do you understand by ''Functional Dependency' ? 

Discuss various types of dependencies with suitable example.

	 "’§$³eZb {S>noÝS>|gr' go Amn ³¶m g‘PVo h¡? {d{^ÝZ àH$ma H$s {S>noÝS>|gr 
H$mo CXmhaU XoH$a g‘PmB¶o&

8)	 Explain the different data types of SQL with the help of example.

	 {d{^ÝZ àH$ma Ho$ SQL S>mQ>m Q>mBn H$mo CXmhaU g{hV g‘PmB¶o&

9)	 Explain the use of Join in RDBMS with the help of example.

	 RDBMS ‘| Join Ho$ Cn¶moJ H$mo CXmhaU g{hV g‘PmB¶o&
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	 Section - C	 2 × 12 = 24
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
12 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 12 A§H$m| H$m h¡& 

10)	 What do you mean by DBMS? Explain the various purpose of 
DBMS.

	 DBMS go AmnH$m ³¶m VmËn¶© h¡& DBMS Ho$ {d{^ÝZ CÔoí¶m| H$mo 
g‘PmB¶o&

11)	 Explain following terms using an example: 
	 Entity Relationship Model, entity type, weak entity, attribute, 

key attribute, derived attribute, multi valued attribute.
	 {ZåZ eãXm| H$mo CXmhaU XoH$a g‘PmB¶o&
	 EoÝQ>rQ>r [aboeZ{en ‘m°S>b, EoÝQ>rQ>r Q>mBn, drH$ EoÝQ>rQ>r, EQ´>rã¶yQ>, H$s 

EQ´>rã¶yQ>, {S>amBãS> EQ´>rã¶yQ>, ‘ëQ>rdoë¶yS> EQ´>rã¶yQ>&

12)	 Define BCNF. How does if different form 3NF? Explain with an 
example.

	 BCNF ³¶m h¡? ¶h 3NF go {H$g àH$ma {^ÝZ h¡? CXmhaU XoH$a 
g‘PmB¶o&

13)	 What is the role of key in relational database? Discuss various 
types of keys in relational database with suitable example.

	 [aboeZb S>mQ>m~og ‘| H$s H$m ³¶m Cn¶moJ h¡? {d{^ÝZ àH$ma H$s 'H$s' H$mo 
CXmhaU XoH$a g‘PmB¶o&


